residual of frame 0, mean = -0.14136317372322083 +- 10.405611991882324
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residual of frame 1, mean = 1.940429925918579 +- 4.431403160095215
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residual of frame 2, mean = -0.3780151605606079 +- 4.359548091888428
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residual of frame 5, mean = 0.13766570389270782 +- 4.413896560668945
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residual of frame 6, mean = -0.4487482011318207 +- 4.352892875671387
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residual of frame 8, mean = -0.47476065158843994 +- 4.554291725158691
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residual of frame 6 - 7, mean = -0.3984549939632416 +- 6.171050071716309
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residual of frame 8 - 9, mean = -0.6257305145263672 +- 6.4647674560546875
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